
UJ SIZE / SERIES STRAP / U-BOLT KIT# BOLT SIZE / RELATED INFO STRAP, CAP or U-BOLT SOURCE FOOT LBS

1210 2-70-18X STRAP 13-18

1310 2-70-18X 5/16 STRAP SPICER 13-18

1310 2-70-28X / 3882979 14018700 STRAP OEM 30-35

1310 2-94-28X U BOLT 14-17

1330 2-70-18X 5/16 STRAP SPICER 13-18

1330 2-94-28X U BOLT 14-17

1330bc 2-94-58X 17-24

1350 3-70-28X 13-18

1350 3920486 14018700 OEM STRAP 30-35

1350 3-94-18X U BOLT 20-24

1410 3-70-28X STRAP 25-30

1410 3-94-18X U BOLT 20-24

1480 3-70-38X STRAP 45-60

1480 3-94-28X U BOLT 32-37

1485/AAM REBC 1480 14018700 STRAP 30-35

1550 3-70-38X STRAP 45-60

1550 3-94-28X U BOLT 32-37

1610 5-70-28X 45-60

1650 5-70-18X 77-103

1950 9-70-18X

1710/1760/1810 6.5-70-18X 8-73-316 / .500 x 20 STRAP 115-135

1710/1760/1810 .375 x 24 CAP 38-48

7260 2670-10 / 2-70-38X STRAP 13-18

7260 2781904 OEM STRAP 13-18

7290 2970-20 STRAP 13-18

1344/GM 3R/SAGINAW 2-70-48X 14018700 OEM STRAP 30-35

SPL55 3-70-38X 45-60

SPL70 3-70-38X STRAP 45-60

SPL90/100 90-70-28X STRAP 45-60

SPL140 140-70-18X 12-73-125M / M12 x 1.25 STRAP 115-125

SPL170 170-70-18X 12-73-125M / M12 x 1.25 STRAP 115-125

SPL250 250-70-18X 12-73-125M / M12 x 1.25 STRAP 115-125

SPL350 350-70-18X 5019836 / M14 x 1.25 STRAP 177-199

STRAP, U-BOLT AND CAP TIGHTENING SPECS
Tuesday, November 08, 2011 1:27 PM

   DRIVELINE COMPONENTS Page 1    



SPL350 350-70-18X 5019836 / M14 x 1.25 STRAP 177-199

SPL140/170/250 
SPRING TAB BOLTS

8-73-114 / M8 x 1.0 CAP SPRING TAB 25-30

   DRIVELINE COMPONENTS Page 2    


